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1/2 == SH1242R8 268
NEFEE FHEE : 1REIE (M /) HREILEAT KXY R
No. L8 FEEE SEIERE | L% FEES BmE
G ETLON 0 100,000 100,000
2| FHEURA 0 100,000 100,000|Ri&% - EEILE
3|FBZIEEBENA 3,900,000 A 82,000 3,818,000
4| 7 v £ —ERFTENRA 3,600,000 33,000 3,633,000 (B EEE
5 PIERINA 110,000 A 2,000 108,000| 1 A =&
6| TEIRA 100,000 A 88,000 12,000( = 1=
7| BEEEIA 90,000 A 25,000 65,000
glREEmu Y — E AEFEINA 55,773,000 3,160,000 58,933,000
9| BIZFERFTEIRA 51,313,000 2,014,000 53,327,000|6 h/wx 2% 284&Y
10| NERABEDRA 51,313,000 2,014,000 53,327,000
11| FAZHBSRA 1,460,000 265,000 1,725,000 A EF39
12| #DHDOEZIRA 3,000,000 881,000 3,881,000
13| hETEEZENRA (BF—F) 3,000,000 881,000 3,881,000
14| Z Db DUA 0 51,000 51,000
15[ #HEURA 0 51,000 51,000
16| HEUXA 0 51,000 51,000
17| HFENAGQ) 59,673,000 3,229,000 62,902,000
18| AFEX H 38,718,000 2,736,000 41,454,000
19| ZSMMH 1,200,000 0 1,200,000
20| BiBfakiH 17,859,000 A 5,704,000 12,155,000( 1 B @%E
21| BEBES5XH 5,528,000| A 2,787,000 2,741,000 |FEE RIER
22| SEEgRAKE S H 10,598,000 9,365,000 19,963,000(g1&E/ — FEEET
23| BEA X 0 744,000 744,000|=4
24| EERFEXH 3,533,000 1,118,000 4,651,000 HAARE SRR - HEIREFS
25|B£EH 5,948,000 A 728,000 5,220,000
26| MHREZH 81,000 3,000 84,000
27| WHEEME 81,000 3,000 84,000(|F14
28| REHFEEXH 480,000 A 83,000 397,000|F
29| HEMEERH 786,000 36,000 822,000 7nvr - 3H - BE
30| KB EESH 357,000 4,000 361,000| EX/FIEEE
31| MRIEXH 225,000 A 55,000 170,000|XT:h/RIE &
32| EFEBEEREXH 1,694,000 A 48,000 1,646,000(F5
33| RERKIZH 0 2,000 2,000
34| EfERiXH 172,000 4,000 176,000l =< v F D&
35| EEMEXE 2,142,000 A 580,000 1,562,000|F9 BBEEZEREL
36|EHEXH 7,832,000 1,448,000 9,280,000
37| BAELEERH 150,000 72,000 222,000
38| ERBEEXH 31,000 5,000 36,000
39| FHMERREXH 357,000/ A 240,000 117,000
40| EBHEREXH 362,000/ A 238,000 124,000
41| KENXBE W 354,000 11,000 365,000|EX/FH
42 MBIEX H 15,000 15,000 30,000
43| BEE W 104,000 1,522,000 1,626,000
44| BIEEWREXH 398,000 120,000 518,000
45| LEREXH 204,000 A 138,000 66,000
46| EH¥ETEIH 4,040,000 441,000 4,481,000 1 A&
47| FERIEH 174,000 A 56,000 118,000|¥15
48| 1REERIFZH 521,000 A 149,000 372,000|RTE I BEHERBREA
49| EffRXH 186,000 49,000 235,000 7L —AH—-ar—VY—=x
50 L3 - BHEERXH 153,000 A 3,000 150,000 |8 8 EFEHH
51 fAFNERXZH 37,000 A 35,000 2,000
52| RFRIZH 633,000 A 85,000 548,000l L ~— % —
53| oA EXH 41,000 158,000 199,000 |#i =&
54| HEREXH 72,000 A 1,000 71,000
55| R IBE TN 3,600,000 656,000 4,256,000




2/2 = Sf242A268
NFFEE FEER  1REGIE (B /) ISR AT Kty R
56| whYXiEEERT/EME 3,600,000 597,000 4,197,000|104 B ¥4
57| MPZEBERERMIH 2,300,000 386,000 2,686,000
58 7y F—ERFEXH 2,300,000 386,000 2,686,000
59 TEE 2,300,000 386,000 2,686,000
60 LEMETEAS 2,300,000 386,000 2,686,000
61| MIXEEELAZH 1,300,000 211,000 1,511,000
62 7y F—RRFEXH 1,300,000 211,000 1,511,000
63| MHFIEEEREEI N 0 59,000 59,000
64| 2 v ¥ —BREZH 0 59,000 59,000|2/12fRE & — 8 R ~IRE
65| hFI 2 X H 30,000 0 30,000
66| HEFTEHXRH(2) 56,128,000/ 4,112,000 60,240,000
67| BETFTHESNZER(3)=(1)-(2) 3,545,000 A 883,000 2,662,000
68| B RS/ EINA 0 342,000 342,000
69| FEXEHEEFHBERA 0 342,000 342,000
70| MEER B EUNAGT(4) 0 342,000 342,000
71| B EEERSZH 2,500,000 2,111,000 4,611,000
72| BEYMEUSZH 0 2,305,000 2,305,000| % v >, EBFFBEHRIE
73| BERMESIEXH 0 2,171,000 2,171,000z 7av., FS5A4 > F
74| ZotbOEFEERISITH 2,500,000| A 2,365,000 135,000 IZDIFDERME/ Sy &
75 | FEER iR X it (5) 2,500,000/ 2,111,000 4,611,000
76| e EHEEE N EH(6)=(4)-(5) A 2,500,000| A 1,769,000 A 4,269,000
77| Z DbDEENIC & WA 0 371,000 371,000
78| Z DD EBNIC L BUXA 0 371,000 371,000
79| % DD FHHURAGHT) 0 371,000 371,000
80| b ;EENIC L BXH 45,000 A 2,000 43,000
81| ZDMbDEBIC L ZXKH 45,000 A 2,000 43,000
82| Db D ESHZ HET(8) 45,000 A 2,000 43,000
83| x D DFEHHBESNEKZER(9)=(7)-(8) A 45,000 373,000 328,000
84| FiEE:H10) 1,000,000 0 1,000,000
85 | LB SN STE M AR (11)=(3)+(6)+(9)-(10) 0| A 2,279,000) A 2,279,000
86| MR I EER=(11)+(12) 0| A 2,279,000 A 2,279,000




